Test 20 SHOW YOUR WORR Name:

Thiree fourths of the tickets had been sold, and there were 320 tickets left. How many tickets were printed?
Find three consecutive odd integers such that the sum of the first and the third equals the sum of the second and 13

Twao dice are rolled, What is the probability that the sum of the top numbers on the dice is 107

e b p

respectively?

5. Find the cquations of lines (&) amd (b).
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6. Giraph the following equation on a rectangulir coondinate system: 4v + y - 4 = 0

7. Simplify:
3} (8000 = 10* HO.000006) ) (000005 = 102 )} #0000 = 107 )
{20,000 O e W83 (D003 3,000, 0000
Factor the following palynomials completely:
& 40T - ‘!.l.'z 9 GwmRtat - {ndp:.r:
10, -« — da? & 450 1. 3% - 3a - 6
Solve:
m+ 5 3 2m = 6
B - - T T -
12 = s " 13 -[-2ix -5 - |-2]] = 30— 4

. Given: BT, = RyTp R, = 15, Ry = 3, Ty = 6 — T, Find T and Ty,

2+ 5y =M

15, Use elimination 1o solve the following system of equations Tor o and v: L -3y = 10

16 Ak - - 2.3
Ea X X+ ¥

I7. Simplify: 335 + 580 - 4./20

18 Simplify, Write the answer as a simpde fraction with all exponents positive,

P A
T
iv — xy
19, (a) 945 & |What subsets of the real numbers ] ? ib) Y125 € [What subscts of the real numbers |?
0. Find the perimeter of this figure. All angles are right
angles. Dimensions are in centimeters, "
1
19 T
33
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Justin's test grodes wene 78, 84, 74, and 80 What is his weighted average i the tea grades are weighted 4, 5, 2, and 3,
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